R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB)\C - Drawings\TX-4632.35.dwg, TX-4635

’Endura

PERFORMANCE STANDARD

Opaque Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering

_analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION
1 Typical elevations, design pressures & general notes
Door panel details
Slidelte panel details (lip lite insert glazing)
Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

N[ AW N

112.25" MAX. OVERALL

FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT (INSWING)

97.125" MAX. O.A. FRAME HEIGHT (OUTSWING)

j

aq

o )

Yo 14

Ex o 4

N -

0 uj Om o

a Z z

™ = N W
P ]

c =

o 02 3

B <29 0o

S FE Ty =

2 JpeQ @
2>k [
n - H-_‘
ZOom o

- 8'&) o

i) s o
O Xz

hel o L
z

L Zmge O

g 2552

[ 50c¢ %

& non g

o

(4]

2 E..§

c

° §

E

2 ~

0

o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

LFS | PART OR ASSEMBLY:
Y

B

UPDATE TO 2018 IBC/IRC CODE

ESIGN PRESSURE (PSF)

9/19/19 |ADD . "FusionFrame” OPTION &

OXO

INSWING

-45.0

1

NO., DATE

REVISIONS

OATE: 8/31/16

OXO

OUTSWING

-35.0

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4635

SHEET 1 oF 7




R:AClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4632.35.dwg, 2.4

STILE {LVL) INTERIOR

- 175" —-—\

EXTERIOR

=—1.6" —

STILE {LVL)

2/

35.75" MAX.
PANEL WIDTH

&P

.
o

O

i

I

l_.I.JJ

=z

<

o

>

<

2 ©
ErNa

5
2 X 9

SEE HARDWARE
© TABLE

DOOR PANEL
Masonite

Fiberglass

DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

LOCK BLOCK 1.6"

{WOOD: 21" LONG)
/"1 "\ HORIZONTAL CROSS SECTION

KWIKSET

LATCH: KWIKSET SIGNATURE SERIES {991)
DEADBOLT: KWIKSET SIGNATURE SERIES {980/985)

TOP RAIL
(WOOD)

- 17—

FIBERGLASS
DOOR SKIN

N

INTERIOR EXTERIOR
//
w/B
FOAM CORE ||
\ )
BOTTOM RAIL [l 12
(WOOD COMP.)  {fu] | [
«—1.75'*]

/" 2"\ VERTICAL CROSS SECTION

\2/

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Vairico FL. 33585

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—-11852

ENDURA

PRODUCT:

DOOR PANEL DETAILS
& GLAZING DETAIL

LFS | PART OR ASSEMBLY:

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

9/19/19 |ADD "FusionFrame” OPTION &

1

NO.| DATE

oATE: 8/31/16

scAe:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4635

SHEET 2 oF 7

© zo1 6 R.W. BUILDING CONSLLTANTS [NG.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDi - DR-855 Masonite FG Opaque (LK, DB)\C - Drawings\TX-4632.35.dwg, 3.4

STILE

(WOOD COMP.) ‘\

$

in
~

2,

1.6

35.75" MAX. PANEL

WIDTH
D

95.25" MAX. PANEL HEIGHT

'4|7

NS

e e—

INTERIOR

=

/4
/1

EXTERIOR

7“1\ HORIZONTAL CROSS SECTION

STILE

N-\"\_\'\l\l'\_'\l-i_l

\3/

21" MAX.

O e

D.L.O. WIDTH

“p)

/
\V4

/
V4
/

D
SIDELITE PANEL

Masonife
Fiberglass

79" MAX. D.L.O. HEIGHT

9.875" MAX
ON CENTER

6‘50|
(TYP)

L

SIDELITE PANEL SKIN: FIBERGLASS {0.075" MIN. THICKNESS)

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

|

=

ODL LITE FRAME

#6 X 1-1/2" PPH SMS

(WOOD COMP.) ST
oy ¥l
& ¥ ez
,‘.‘? =
-
-
TOP RAIL e
(WOOD COMP.) ] r,:a,
9
1.6"
1-1/2
#6P);>H Sf/V\S I GLASS BITE 1 /2"
INTERIOR N —— 1/2" OVERALL GLASS THK.
|

1/8" TEMPERED GLASS

b:s‘ AIR SPACE
1/8" TEMPERED GLASS

v e e—

JEHHEHEH 111111 -,

ps
-.V

A\Y

EXTERIOR STEEL SPACER #
&S0 SEALANT INTERIOR

/3

LOW TACK SEALANT "

C:) GLAZING DETAIL

EXTERIOR

FOAM CORE —_ ||
FBERGLASS SKN —~_ | .
i : =
R o E }
o ﬂ‘ﬂ\f& BOTTOM RAIL | et
N (WOOD COMP.) ™| T
? N
38" —’_!
ODL LITE FRAME =175
HP Polypropylene

/" 2"\ VERTICAL CROSS SECTION

3/

uj

an

-

83

Ex &

£%® O

G, ]

N "

.o

[ J5
L

s o

o o

vg oo

€ T 0

ko) e
>m
oo
"
o
xX
o
o
(o]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By
thone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

—~
)
A=
N
=
o3
AL
b
& ., DE
> e
I Al <9
E
Lil 1y
o e
.. < o
b i O
o So
2 Cl v
o &
@ <
a. (2l
2 >
4l |
L
o
e}
KO
O
8l
E[o]
Sj@ |{»n
X pd
o(® 1O
5 2
Eo] @
SiF|®
Sik
Ll
~13
|3
<
(o)}
N
o |=
~— <
N
[s,]
-1 lo
Z
oatE: 8/31/16
ScAaLE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4635

SHEET 3 oF 7

© 2016 R.W. BUILDING CONSULTANTS INC.



RAClients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4632.35.dwg, 4.4

1D

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

0 g a3
L
gm o7
=5 G-
££3 80
292 B3
] -
BACK-TO-BACK JAMBS: 5 88" 55
) . (] | e o W
- "FusionFrame” Fusionframe” {1 OR 2-PIECE) o o x g h_:
MULLION B £8. Ob
\ & 598 2
n‘_' a0 n 8 6
@ =) INTERIOR nox2uzeR s R GE
0 0 WOODSCREW  |B o é 5
#8 X 2-1/2" FH COURSE 0 ] | ENDURA WEATHERSTRIP (SEENOTE 2) 3
/ 2\l THREAD DRYWALL SCREW O O]|  (QEBD/PE 650) | | 8
4/ (SEENOTE 1) ENDURA WEATHERSTRIP SIDELITE PANEL
) © DOOR PANEL
| 74 | (QEBD/PE 650)
| ;
;o ) || o
| 1 - S 3
| " | ~ % Y— xf ] 49
E 1 H » < < =
K | F 4 g ol EB
| I R S 33 RY
b D < 1 L T
| SIDELITE PANEL \ 48X 2:1/2' PFH W HOXIPEH ] ol@ T
#8X 1" PFH SMS WOOD SCREW TQOD SCREW | x
5 73N /TN 2 (4 #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH (SEENOTET) 12 o
CORNER PADS 3 N , EXTERIOR STRIKE PLATE o ke
(TYP) NN #8 X 3/4" PFH SMS 4"HINGE e o o
/3" HORIZONTAL CROSS SECTION (4™ HORIZONTAL CROSS SECTION £ &
W Outswing shown - Inswing also approved W Outswing shown - Inswing also approved "
""”‘].5""'> «4—-]_5"-——’— ‘%g
] WOOD 4-3/8" FATBOY 4-3/8' FATBOY 3|E
\ N PINE MULLION PINE MULLION \ 25
ol {n
AR =z
COMPOSITE \ INTERIOR 48X 2-1/2" FHl COURSE el 6
\ . #8 X 2-1/2" FH COURSE ENDURA WEATHERSTRIP THREAD DRYWALL SCREW lg & \:>_J
in E THREAD DRYWALL SCREW [QEBD/PE 650) {SEENQTE 1) Elo| |
NE N ' (SEE NOTE 1) ENDURA WEATHERSTRIP 2l
-~ \ <t /
q ! \ - DOOR PANEL T QEomEeso) - LR | /SIDEUTE PANEL 2
: ) O | =i i / l J olE
[::] D \\ I -:::E s -.:a\ / % -
= = = T pis \ N s~ N Sl
] © =) NS W S S SR 2 |5
e =y Sl
2.5" 2.5" / N \ e
FATBOY MULLION MULLION SIDELITE PANEL }X 1" PEH SMS / #8 X 2-1/2' PFH WOOD SCREW owTE: 8/31/16
PINE "Fusionframe” #8 X 2-1/2" PFH WOOD SCREW DOOR PANEL LATCH St N.T.S.
DWG. BY: JK
’ ’ STRIKE PLATE
#8 X 3/4" PFH SMS 4"HINGE EXTERIOR oK. B LFS
NOITES: DRAWING NO.:
1. Spacing for sidelite screws: 6.5", 35.5", 57.25" and 85" from head to sill {4 fotal). /"1 \ HORIZONTAL CROSS SECTION (2 g(?RI.ZOTAL f3|R0$3 SI'EC"ON ) Y4635
2. Spacing for mullion screws: 6" from each end plus 3 more equally spaced (5 total). W Outswing shown - Inswing also approved W VISWInG Shown - Inswing aiso approve SHeer 4 oF 7

© zo016 R.W. BUILDING CONSULTANTS INC.




RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4632.35.dwg, 54

2X FRAMING 2X FRAMING 2X FRAMING w
(G >=0.42) (G>=042) (G>=0.42) — 1 2
— "] o F - — v \ ..:
W \\\ P / Y : ; RS :::... 3 [ 3
’ i M) EXT. SHEATHING }1); o A
EXT. SHEATHING % S DRYWALL. | = LN EXT. SHEATHING il AN WY o¥ e
\ il = DRYWALL \ T i = \ it oRrwAlL 9 VB
fil : #10X2-1/2" PFH [N] #10 X 2-1/2" PFH ‘ ngl"‘ * 4»:". - '\, 0\)
1 y i \ - " RERERCE
1/4" MAX 1 [ WOOD SCREW ) [IMI WoOoD SCREW ]
SHIM SPACE 1/4" MAX. it ' B )
\ L ae SHIM SPACE \ . WM o S #10X 3" PFH
¥ ¥ = WOOD SCREW
SHE STE 1/4" MAX.
l SHIM SPACE 0ob0 \[53]
DOOR PANEL \\ ? SIDELITE PANEL ~ \ ? DOOR PANEL \\ .
\ HEAD: PINE \ HEAD: "FusionFrame” “—P'ECE)
' #8 X 2-1/2" FH COURSE HEAD: PINE ENDURA WEATHERSTRIP
ENDURA WEATHERSTRIP  THREAD DRYWALL SCREW Al
(QEBD/PE 650) (SEE NOTE 1)
N - \}
EXTERIOR W INTERIOR INTERIOR EXTERIOR EXTERIOR \ INTERIOR

71"\ VERTICAL CROSS SECTION
\5/ Outswing shown - inswing also approved

0.75" —=— =t~ 075'

075" ’-l<—'-l

 psnssonsemmmey

COMPOSITE
SNAP-ON
CAP

4.56"

EETER A

— s

JAMB / HEAD JAMB / HEAD
PINE "FusionFrame"
{1-PIECE])

1 025" ‘I .25"

JAMB
"FusionFrame"
{2-PIECE)

2"\ VERTICAL CROSS SECTION
W inswing shown - Outswing also approved

/ DRYWALL JAMB: "FusionFrame"
1 OR 2-PIECE
——f— / INTERIOR ‘ ’

1/4" MAX,
SHIM SPACE
#10 X 2-1/2" PFH WOOD SCREW
JAMB: PINE
#8 X 2-1/2" FH COURSE \

THREAD DRYWALL SCREW

{SEE NOTE 1) \
A

™\

2X FRAMING
(G >=0.42)

AN

SIDELITE PANEL

7“4\ HORIZONTAL CROSS SECTION

EXT. SHEATHING

w Outswing shown - Inswing also approved

EXTERIOR

NOITE:
* Spacing for sidelite screws:
¢" from each end (2 total).

/3 \ VERTICAL CROSS SECTION
\y Outswing shown - inswing also approved

1/4" MAX. #10X 2-1/2" PFH
SHIMSPACE ~ WOOD SCREW

#8 X 2-1/2" FH COURSE
THREAD DRYWALL SCREW
(SEE NOTE 1)

™\

2X FRAMING
(G >=0.42)

SIDELITE PANEL

EXT. SHEATHING
/"5 "\ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing ailso approved

b
0 o
.""
83 £ o
Ex a B
£* B Zv
Sy gB &
ST N
1.
9 pE g*
[+3 s
2B .E_é.% 55
> Jp59© 0k
238 QE
200 b
s »y ma
& OV oW
° o xz %
& r4 O b
§ g%g 2o
a =g06 @
® Rok %E
o 86
[} S [
E3
5 E
i
E g o
O
[+
a
0
=
O
=
O
o
»
E |.Q
a 5 ©
z 195
i
<
2o
.. =
KD
o 5 x
2 s
o -
o o
x <
o a
Al B e
Y1 o

UPDATE TO 2018 IBC/IRC CODE

9/19/19 |ADD" "FusionFrame™ OPTION &

NO, DATE

1

REVISIONS

oaTE: 8/31/16

SCAE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4635

SHEET 5 oF 7

@ 2016 R.W. BUILDING CONSLILTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-855 Masonite FG Opaque (LK, DB)\C - Drawings\TX-4632.35.dwg, 6.4

ENDURA
Ef@: DOOR SWEEP
N (DBK-R)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEENOTE 1)

INTERIOR

#10X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW
/4 \ VERTICAL CROSS SECTION

ENDURA
DOOR SWEEP

DOOR /\/
PANEL N / DBKZAC)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/"2 VERTICAL CROSS SECTION
w Inswing Articulating Threshold

SIDELITE -]
PANEL\

#8 X 2.5" COURSE THREAD — (. 1O W

DRYWALL SCREW //’j 7////: %;j}i

{SEE NOTE 1) § :

EXTERIOR

#10X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR {TW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

A\ ENDURA WEATHERSTRIP 2NNy,

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

#10X 2.5" PFH WOOD SCREW OR 1. Spacing for sidelite screws:

&' from each end (2 total}.

7“3\ VERTICAL CROSS SECTION
W Outswing Bump Threshold

W Inswing configuration w Outswing configuration
,: % ‘\ c 4 :‘.;2 a1 :E ; L
- ise ] 1 456" | [ 456" | f 456" |
1 }/NSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 )INSWING ADJUSTABLE THRESHOLD 4 )INSWING ADJUSTABLE THRESHOLD 5 }INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 ZAI4565FN IAILAAA4565 ZAIAA4565FN ZAI4565RDS
| MAX. DESIGN PRESSURE = +40 PSF |
b 456" | b= 456" | [l 456" | * e |
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g )INSWING ARTICULATING THRESHOLD g )INSWING ARTICULATING THRESHOLD 10 HNSWING ARTICULATING THRESHOLD
6 7 ZAC4565FN ZACLAA4565 IACAA4565FN ZACA4565RDS

ZACLAS65

- ‘d - | —JJ4 ‘:

tl 4.56' - bl 456" | | 456 |

1 OQUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD
ZOBL4565 ZOB4565FN ZOB4565RDS

| MAX. DESIGN PRESSURE = +35 PSF |

ud
o 22
»35:;.‘\/.'- 333 ilz n:-N—

ST e My Wy 83 £
Fogl SR G 7N 4 V\._‘O_ 0 ol
o T ALY N ES o [n]
o Oy P Q3 )¢ 2K in 4
20 YR =D S8y o8 5
2 o s A A B u gm0 z
40t WY GO g fut San @

L4 S;{ swho Zim ;e 2
(;‘ 3 ST s « o s o ® g
FASRY : ° bo §
JO‘. c EITw =
\)‘; o 2 5" ge i
23'2”{,‘;.,_ a>n i

T F i Frenaed Z -
03 E8B® ¢
O N - a

o

o x=z
o I
gm., (<]

=
NOTE: 5028 g
poa g
@

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

o
S 2
o o
s o =25
e ul. oF
2 BlX =6
S 3T &,
Lu&:55>m
o
g
mf 0z
Oz G
. L
5 14
= o
o &
& <
o o
21 =
L

UPDATE TO 2018 IBC/IRC CODE

9/19/19 |ADD "FusionFrame” OPTION &

1

NOJ DATE

REVISIONS

oatE: 8/31/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX~4635

SHEET 6 oF 7

© 2016 R.W. BUILDING CONSULTANTS ING.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDl.— DR-855 Masonite FG Opaque (LK,DB\C - Drawings\TX-4632.35.dwg, 74

ui
ek c 9
s m HEAD ANCHORS: & o
052 2X FRAMING #10 X 2-1/2" WOOD SCREW [PINE JAMB) §5 . Bu
" (BY OTHERS) #10 X 3' WOOD SCREW {1-PIECE JAMB) E2 ¢ s
208 ) » JAMB ANCHORS: i oy dgh of
v A (TYP) 5 & #10 X 2-1/2" WOOD SCREW (PINE/2-PIECE JAMB) : i
' [<— (TYP.) #10 X 3" WOOD SCREW (1-PIECE JAMB) p §3 £ .2 %
* (e, o ] TE Zep 86
| ] SEE HINGE 1 T 1 1 ] SRR 5 258 @é
T mBH DETAIL 1 B - . NI AN: 2gn 5h
R0 ¥ ¥4 AC 8. €O
= ? l{l\\x\_\f{\:\' 5‘ >< o o an:J
3 SEE DETAIL 1 » 3 23% 5.
o o 5 g & 5°
3 < § 3568 Bu
Q o & RoE g g
- ° - o =u_ O L] o
g L | 5 =79 \ e
%3 F & 3 g  #exzz eS|t SOl L
\ N o D Z 8
= " " b ® |{ O~
2 — —_—r 1] l #8X1 PFHWSé:‘_ao 48X 3/4' PFH WS
3 1 4" X 4" HINGE o
B SEE HINGE ) \ o
&) DETAIL 2 y il =
. SEESTRIKE” |, HINGE DETAIL 1 g |3
B PLATE DETAIL i § 5 2
— 0 & =
. SEE DETAIL 1 & e
EB'/ % ; = | #8X212PRHWS | 4 E
' i il / \ B i ' ' ® o [fo~ = ;
] 4 M I " 4 - o <€
4" (TYP.) SILL ANCHORS: ~— 4"X 4" HINGE 2 s
2 (TYP.) —=| |=— #10 X 2-1/2" PFH WOOD SCREW i\ —
¢ 1/4" X 2-3/4" ELCO OR S
HINGE JAMB FLOOR SUBSTRATE MATERIAL [TW CONCRETE SCREW STRIKE JAMB HINGE DETAIL 2 IO
— FRAME ANCHORING —_— ~lo
CONCRETE (MIN. 3000 PSI) X6 z|Q
WOOD (G >= 0.42) _ BN
JAMB NOTES: 38| |o
THE PINE OR "Fusionframe" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. * NOTE: THESE ANCHORS ARE NOT #10 X 3" PFH WS =] EE/GQBOLT STRIKE olm| B
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. REQUIRED FOR D.P. < 40 PSE. ) ES %
[
INTEGRAL MULLION NOTES: ) ) Elo| |x
THE FATBOY PINE MULLION, "FusionFrame" MULLION, OR THE "FusionFrame" BACK-TO-BACK #8 X 2-1/2" PFH WS ———] LATCH STRIKE 3 "
JAMB (1-PIECE OR 2-PIECE) MAY ALL BE USED AS THE INTEGRAL MULLION. ) PLATE N
CONCRETE ANCHOR NOTES: ' ' ' ' ' ' 25
1. Concrete anchor locations at the corners may be adjusted to maintain the min. STRIKE PLATE DETAIL ;
edge distance fo mortar joints. #10 X 3" PFH WS N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo #10 X 2-1/2" PFH WS (4PLCS) )
maintain the min. edge distance to mortar joints, additional concrete anchors #8 X 2-1/2" COURSE AV
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. THREAD x \\\ S
3. Concrete anchor table: DRYWALL SCREW K. 1=
&S
, NCHO! MIN. E | MIN. CLEARANCE ~ S A N Y N a oaTe: 8/51/16
DJACEN. N =< N EE N N N scae:  N.T.S.
= D IC FROROETOS § § ee DWG. BY: JK
nmw “ - cHk. 8. LFS
®| 1/4 1-3/4" 1-1/ 4
TAPCON f DETAIL 1 DETAIL 1 DETAIL 1 DRAWNG NO.:
ELCO o 1/ 1-3/4" " 4 INTEGRAL MULLION ATTACHMENT  INTEGRAL MULLION ATTACHMENT INTEGRAL MULLION ATTACHMENT TX-4635
ULTRACON PINE MULLION "FusionFrame" MULLION "FusionFrame" BACK-TO-BACK JAMBS SHEET oF
_J/_OF_7_

© 2016 R.W. BUILDING CONSULTANTS ING."




